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For each question, there is one correct solution, indicate with justification the right response.

Answers
No. i
o Questions a b -
V2.5x10° x~/3600 6
1. If, A= , then A:\/E AZ£ A:@
V2x10% x+/27x10* 6 2
0. | HEX= (N_ 1)(\F+1) (V8- 1) x=10+2v5 | x=10+45 x=8
then
3. If, r = 2'° +2"°, then r=4" r=2% r=2%
In the coded figure below, ABCD is a
quadrilateral The four points
B ABCDisa | ABCDisaright | ‘B ¢andD
4. , belong to the
2\Ber | then parallelogram trapezoid same circle of
3cm
| diameter [AC].
B Gem c

2~ exercise: (4pts)

2/1

1. a) Compare the numbers a=3v2 and b=25 .

J(S\/E - 2\/5)2 (% pt)
b) Develop (1— J5 )2. (Y2 pt)

) GivenE =1+/(3v2 - 25 ) —2:/6-2+5

Prove that E is an integer. ( % pt)

Given that a,b & Care three real non — zero numbers:

QJIN

4
a) Calculate b, sothat a =-2&C = —g.( %4 pt)

UIH
+

—(1+ \/EX\/E—4).

ol

3
b) Is it possible to find the value of Csuch that a =1.5&b = Z?Why? (Y2 pt)

c) Suppose in this part that ¢ = -

1 1
i) Prove that —=—; . (Y2 pt)
a x" -1

ii) Calculate xifa =3. (%2 pt)

(x+1)and b=x-1 where x > 0.
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Then deduce the simplification of



34 exercise: (3pts)

A. 1) Expand and reduce the expression E = (X — 1)2 — (X - 2)(X — 3). (Y2 pt)
2) Use the preceding result to calculate the expression A =(9999)° —9998 x 9997. (% pt)
B. 1) Develop and reduce the expression (X + 1)(X — 5). (Y2 pt)

2
2) Given f(X)z 3X_6:_(X4 _45X+4).
X" —4X -

a. For what values of X, f (X) is defined? (%2 pt)

b. Simplify f (x).(%2 pt)

c. Solve the equation f (X) = %.(1/2 pt)
4% exercise: (4pts) C
Consider the semi-circle of center O and diameter AB =6cm . M
Let Cbe the midpoint of arcAB and M be any point on the
arcBC .[ AM ]cuts the bisector of COM at 1 .
A @) B

1) Reproduce and complete the adjacent figure. (V2 pt)

) Calculate the measure of the angle AMC (Y2 pt)

3) What does the line (Ol )represent with respect to segment[CM ] ? Justify. (1pt)
) Prove that the triangle CIM is a right isosceles triangle. (1pt)

5) Prove that as M describes the arcBC the point | will vary on a fixed circle whose center and

radius are to be determined. (1pt)

5% exercise: (5pts)

Consider a circle (C)of center O and diameter AB =8Ccm. Let M be the symmetric of O with respect to
the point A; and (MT )the tangent at T to the circle(C).

1) Draw a figure. (Y2 pt)

2) a) Compute the measure of [MT ]&[AT]. Deduce the nature of triangle ATO. (1pt)

b) Calculate the measure in degrees of the angle AMT. (% pt)

3) Calculate BT and prove that the triangle MTB is isosceles. (1pt)

4) The line parallel to (AT ) passing through O cuts (MT )at a point E . Calculate the length of
OE &TE . What is the nature of triangle MOE ? Justify. (1pt)

5) Prove that (BT )is tangent to (C)at B.(1pt)
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